

# On the Smarandache Lucas base and related counting function<sup>1</sup>

Wenpeng Zhang

Research Center for Basic Science, Xi'an Jiaotong University

Xi'an Shaanxi, People's Republic of China

## 1. INTRODUCTION AND RESULTS

As usual, the Lucas sequence  $\{L_n\}$  and the Fibonacci sequence  $\{F_n\}$  ( $n = 0, 1, 2, \dots$ ) are defined by the second-order linear recurrence sequences

$$L_{n+2} = L_{n+1} + L_n \quad \text{and} \quad F_{n+2} = F_{n+1} + F_n$$

for  $n \geq 0$ ,  $L_0 = 2$ ,  $L_1 = 1$ ,  $F_0 = 0$  and  $F_1 = 1$ . These sequences play a very important role in the studies of the theory and application of mathematics. Therefore, the various properties of  $L_n$  and  $F_n$  were investigated by many authors. For example, R. L. Duncan [1] and L. Kuipers [2] proved that  $(\log F_n)$  is uniformly distributed mod 1. H. London and R. Finkelstein [3] studied the Fibonacci and Lucas numbers which are perfect powers. The author [4] obtained some identities involving the Fibonacci numbers.

In this paper, we introduce a new counting function  $a(m)$  related to the Lucas numbers, then use elementary methods to give an exact calculating formula for its mean value. First we consider the Smarandache's generalized base, Professor F. Smarandache defined over the set of natural numbers the following infinite generalized base:  $1 = g_0 < g_1 < \dots < g_k < \dots$ . He proved that every positive integer  $N$  may be uniquely written in the Smarandache Generalized Base as:

$$N = \sum_{i=0}^n a_i g_i, \quad \text{with} \quad 0 \leq a_i \leq \left[ \frac{g_{i+1} - 1}{g_i} \right]$$

---

<sup>1</sup> This work is supported by the N.S.F. and P.N.S.F. of P.R.China.

(integer part) for  $i = 0, 1, \dots, n$ , and of course  $a_n \geq 1$ , in the following way: if  $g_n \leq N < g_{n+1}$ , then  $N = g_n + r_1$ ; if  $g_m \leq r_1 < g_{m+1}$ , then  $r_1 = g_m + r_2$ ,  $m < n$ ; and so on until one obtains a rest  $r_j = 0$ .

This base is important for partitions. If we take the  $g_i$  as the Lucas sequence, then we can get a particular base, for convenience, we refer to it as a Smarandache Lucas base. Then any positive integer  $m$  may be uniquely written in the Smarandache Lucas base as:

$$m = \sum_{i=1}^n a_i L_i, \quad \text{with all } a_i = 0 \text{ or } 1, \quad (1)$$

That is, any positive integer may be written as a sum of Lucas numbers. Now for an integer  $m = \sum_{i=1}^n a_i L_i$ , we define the counting function  $a(m) = a_1 + a_2 + \dots + a_n$ . The main purpose of this paper is to study the distribution properties of  $a(m)$ , and present a calculating formula for the mean value

$$A_r(N) = \sum_{n < N} a^r(n), \quad r = 1, 2. \quad (2)$$

That is, we prove the following two main conclusions:

**Theorem 1.** *For any positive integer  $k$ , we have the calculating formulae*

$$A_1(L_k) = \sum_{n < L_k} a(n) = kF_{k-1}$$

and

$$A_2(L_k) = \frac{1}{5} [(k-1)(k-2)L_{k-2} + 5(k-1)F_{k-2} + 7(k-1)F_{k-3} + 3F_{k-1}].$$

**Theorem 2.** *For any positive integer  $N$ , let  $N = L_{k_1} + L_{k_2} + \dots + L_{k_s}$  with  $k_1 > k_2 > \dots > k_s$  under the Smarandache Lucas base. Then we have*

$$A_1(N) = A_1(L_{k_1}) + N - L_{k_1} + A_1(N - L_{k_1})$$

and

$$A_2(N) = A_2(L_{k_1}) + N - L_{k_1} + A_2(N - L_{k_1}) + 2A_1(N - L_{k_1}).$$

Further,

$$A_1(N) = \sum_{i=1}^s [k_i F_{k_i-1} + (i-1)L_{k_i}].$$

For any positive integer  $r \geq 3$ , using our methods we can also give an exact calculating formula for  $A_r(L_k)$ . But in these cases, the computations are more complex.

## 2. PROOF OF THE THEOREMS

In this section, we complete the proof of the Theorems. First we prove Theorem 1 by induction. For  $k = 1, 2$ , we have  $A_1(L_1) = A_1(1) = 0$ ,  $A_1(L_2) = A_1(3) = 2$  and  $F_0 = 0$ ,  $2F_1 = 2$ . So that the identity

$$A_1(L_k) = \sum_{n < L_k} a(n) = kF_{k-1} \quad (3)$$

holds for  $k = 1$  and  $2$ . Assume (3) is true for all  $k \leq m-1$ . Then by the inductive assumption we have

$$\begin{aligned} A_1(L_m) &= \sum_{n < L_{m-1}} a(n) + \sum_{L_{m-1} \leq n < L_m} a(n) \\ &= A_1(L_{m-1}) + \sum_{0 \leq n < L_{m-2}} a(n + L_{m-1}) \\ &= A_1(L_{m-1}) + \sum_{0 \leq n < L_{m-2}} (a(n) + 1) \\ &= A_1(L_{m-1}) + L_{m-2} + \sum_{n < L_{m-2}} a(n) \\ &= A_1(L_{m-1}) + A_1(L_{m-2}) + L_{m-2} \\ &= (m-1)F_{m-2} + (m-2)F_{m-3} + L_{m-2} \\ &= m(F_{m-2} + F_{m-3}) - F_{m-2} - 2F_{m-3} + L_{m-2} \\ &= mF_{m-1} - F_{m-1} - F_{m-3} + L_{m-2} \\ &= mF_{m-1}, \end{aligned}$$

where we have used the identity  $F_{m-1} + F_{m-3} = L_{m-2}$ . That is, (3) is true for  $k = m$ . This proves the first part of Theorem 1.

Now we prove the second part of Theorem 1. For  $k = 1, 2$ , note that  $1 = F_1 = F_0 + F_{-1}$  or  $F_{-1} = 1$ , we have  $A_2(L_1) = A_2(1) = 0$ ,  $A_2(L_2) = A_2(3) = 2$  and

$$\frac{1}{5} [(k-1)(k-2)L_{k-2} + 5(k-1)F_{k-2} + 7(k-1)F_{k-3} + 3F_{k-1}] = \begin{cases} 0, & \text{if } k = 1; \\ 2, & \text{if } k = 2. \end{cases}$$

So that the identity

$$A_2(L_k) = \frac{1}{5} [(k-1)(k-2)L_{k-2} + 5(k-1)F_{k-2} + 7(k-1)F_{k-3} + 3F_{k-1}] \quad (4)$$

holds for  $k = 1, 2$ . Assume (4) is true for all  $k \leq m-1$ . Then by the inductive assumption, the first part of Theorem 1 and note that  $L_{m-1} + 2L_{m-2} = 5F_{m-1}$  and  $F_{m-1} + 2F_{m-2} = L_{m-1}$ , we have

$$\begin{aligned} A_2(L_m) &= \sum_{n < L_{m-1}} a^2(n) + \sum_{L_{m-1} \leq n < L_m} a^2(n) \\ &= A_2(L_{m-1}) + \sum_{0 \leq n < L_{m-2}} a^2(n + L_{m-1}) \\ &= A_2(L_{m-1}) + \sum_{0 \leq n < L_{m-2}} (a(n) + 1)^2 \\ &= A_2(L_{m-1}) + \sum_{0 \leq n < L_{m-2}} (a^2(n) + 2a(n) + 1) \\ &= A_2(L_{m-1}) + \sum_{n < L_{m-2}} a^2(n) + 2 \sum_{n < L_{m-2}} a(n) + L_{m-2} \\ &= A_2(L_{m-1}) + A_2(L_{m-2}) + 2A_1(L_{m-2}) + L_{m-2} \\ &= \frac{1}{5} [(m-2)(m-3)L_{m-3} + 5(m-2)F_{m-3} + 7(m-2)F_{m-4} + 3F_{m-2}] \\ &\quad + \frac{1}{5} [(m-3)(m-4)L_{m-4} + 5(m-3)F_{m-4} + 7(m-3)F_{m-5} + 3F_{m-3}] \\ &\quad + 2(m-2)F_{m-3} + L_{m-2} \\ &= \frac{1}{5} [(m-1)(m-2)L_{m-3} + 5(m-1)F_{m-3} + 7(m-1)F_{m-4} + 3F_{m-2}] \\ &\quad + \frac{1}{5} [(m-1)(m-2)L_{m-4} + 5(m-1)F_{m-4} + 7(m-1)F_{m-5} + 3F_{m-3}] \\ &\quad - \frac{1}{5} [2(m-1)L_{m-3} + (4m-10)L_{m-4} + 5F_{m-3} + 7F_{m-4} + 10F_{m-4} \\ &\quad + 14F_{m-5}] + 2(m-2)F_{m-3} + L_{m-2} \\ &= \frac{1}{5} [(m-1)(m-2)L_{m-2} + 5(m-1)F_{m-2} + 7(m-1)F_{m-3} + 3F_{m-1}] \end{aligned}$$

$$\begin{aligned}
& -\frac{1}{5} [2(m-2)(L_{m-3} + 2L_{m-4}) - 2L_{m-4} + 5(F_{m-3} + 2F_{m-4}) \\
& + 7(F_{m-4} + 2F_{m-5})] + 2(m-2)F_{m-3} + L_{m-2} \\
= & \frac{1}{5} [(m-1)(m-2)L_{m-2} + 5(m-1)F_{m-2} + 7(m-1)F_{m-3} + 3F_{m-1}] \\
& -\frac{1}{5} [10(m-2)F_{m-3} - 2L_{m-4} + 5L_{m-3} + 7L_{m-4}] \\
& + 2(m-2)F_{m-3} + L_{m-2} \\
= & \frac{1}{5} [(m-1)(m-2)L_{m-2} + 5(m-1)F_{m-2} + 7(m-1)F_{m-3} + 3F_{m-1}].
\end{aligned}$$

That is, (4) is true for  $k = m$ . This completes the proof of Theorem 1.

*Proof of Theorem 2.* Note that  $N = L_{k_1} + L_{k_2} + \cdots + L_{k_s}$ , applying Theorem 1 we have

$$\begin{aligned}
A_1(N) &= \sum_{n < L_{k_1}} a(n) + \sum_{L_{k_1} \leq n < N} a(n) \\
&= A_1(L_{k_1}) + \sum_{L_{k_1} \leq n < N} a(n) \\
&= A_1(L_{k_1}) + \sum_{0 \leq n < N - L_{k_1}} a(n + L_{k_1}) \\
&= A_1(L_{k_1}) + \sum_{0 \leq n < N - L_{k_1}} (a(n) + 1) \\
&= A_1(L_{k_1}) + A_1(N - L_{k_1}) + N - L_{k_1}.
\end{aligned}$$

and

$$\begin{aligned}
A_2(N) &= \sum_{0 \leq n < L_{k_1}} a^2(n) + \sum_{L_{k_1} \leq n < N} a^2(n) \\
&= A_2(L_{k_1}) + \sum_{0 \leq n < N - L_{k_1}} a^2(n + L_{k_1}) \\
&= A_2(L_{k_1}) + \sum_{0 \leq n < N - L_{k_1}} (a^2(n) + 2a(n) + 1) \\
&= A_2(L_{k_1}) + N - L_{k_1} + A_2(N - L_{k_1}) + 2A_1(N - L_{k_1}).
\end{aligned}$$

This proves the first part of Theorem 2.

The final formula in Theorem 2 can be proved using induction on  $s$  and the recursion formulae. This completes the proof of Theorem 2.

## REFERENCES

1. Duncan, R.L., *Application of Uniform Distribution to the Fibonacci Numbers*, The Fibonacci Quarterly 5 (1967), 137-140.
2. Kuipers, L., *Remark on a paper by R. L. Duncan concerning the uniform distribution mod 1 of the sequence of the Logarithms of the Fibonacci numbers*, The Fibonacci Quarterly 7 (1969), 465-466.
3. London, H. and Finkelstein, R., *On Fibonacci and Lucas numbers which are perfect powers*, The Fibonacci Quarterly 7 (1969), 476-481.
4. Wenpeng Zhang, *Some identities involving the Fibonacci numbers*, The Fibonacci Quarterly 35 (1997), 225-229.
5. Robbins, N., *Applications of Fibonacci Numbers*, Kluwer Academic publishers, 1986, pp. 77-88.
6. Dumitrescu, C., Seleacu, V., *Some notions and questions in number theory*, Xiquan Publ. Hse., Glendale, 1994, Section #47-51.
7. Grebenikova, Irina, *Some Bases of Numerations* (Abstracts of Papers Presented at the American Mathematical Society), Vol. 17, No. 3, Issue 105, 1996, p. 588.
8. "Smarandache Bases" at <http://www.gallup.unm.edu/~smarandache/bases.txt>.